
Sir Gawain and the Green Knight 補充

1. bob and wheel: The first part of each stanza does not rhyme but does use
alliteration, and it may be anywhere from 12 to 36 lines long, but the second part
of each stanza is always five lines long (the bob and wheel) and rhymes ababa.
The “bob,”the first of the five lines, is only two syllables long; but the remaining
four lines (the wheel) would contain longer lines that not only rhymed but usually
contain alliteration as well.

2. The opening:
The Fall of Troy


Aeneas, a Trojan, and His Followers Sail To Southern Italy and Settle There


Various Descendants of the Trojans (Living in Italy) Later Travel to Settle Other

Lands:
1. Romulus to Rome
2. Ticius to Tuscany

3. Langobard to Lombardy

4. Felix Brutus to Britain


